2. What is explicit cost of capital 7
3. Whatis gross working capital 2
4. Whatis fixed working cagital 7
5. Whatis capital budgsting 7

6. What is tarminal vaiue metiog 2

PART -B
Amwuy-aumbm.&cnmeﬂonwneszmams.
7. \Mmdoyoumeanbyhvcummldedsion?
8. Dmmmemybankwlodfo:apmimm & cash outlay of
genaratos

requires
R8.10.000 ang cash inflows of Rs. 2,000, Rs, 4,000, Re. 3,000
wmz,ooommomum.mmhmmmmmy.

s for the
malmamthemhﬂn'umm.Cunm
memdmyupnal. 5

P.T.0.
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10. A Lid, issuas Rs.1,00,000, 8% debentures at a discount of 10%. The tax
rate issa%.oomputamecwddebtcaﬂlal

11, What is working capital cycie 7
12. What do you mean uymnmmwm’v

13, Theptasmulusotuahhﬂmﬁqnapmjectlsﬂs.t&m.mm
outiay |s Rs. a75m.mmmmmmwmmqum?

14. Whal is profitability index 7 (6x2=12)

PART-C

Mmmwm&Enhqmneamsm;

15, Bﬁeﬂyoxnlainhewopeoﬂiundalmnaommm,

16. Whatis reaiized yieid method of calculating cost of equity capital ? What are
its assumptions 7

17. From the following information caicutate
a) Thacbuotequhyuplulmcmuuqm

Amnhgamkﬂwhmdis%mm.

Risk free rate of return 112
Bmmmdmmmrmws

b) Whmwouldbammdequtyn&h*dnno 1757
18. MmmmoldvathguolmumngmmldngcapM?

18, For the following project calculate
a) Pay back period and

b) Post back profitability

Initial outiay . As.1,00.000
Annual cash Infiows (After tax but before depraciation)  Rs. 20,000
Estimated Mfe -8 years

20. A project cost Re.1,00,000 and yieids annually a profit of Rs. 16,000 after
depreciation@12% p.a. but before tax of 50%. Calculate the pay back
period. (4x3=12)
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PART-D
Answer any two questions. Each question carries 5 marks.
21. Explain the different methods used for calculating cost of equity share

22 Whatis work 7 Explain the factors determining the workin
e G

23, Mmmmaammmmmumomm;m

Elements of cost

Matarials 40%

Direct labour 20%:-
Overhaads 20%

The foflowing parficulars are available -

a) Mspropoudlomahhhalawo(acwnyofzoo.ooom.

b) Selling prica is As.12 per unit,

c) Raw materials are expecied 1o remain In stores for an average period
of ane month,

d) Materials will be in process, on average half a month,

8) Flmshsdgoodsuamqulmdlobemstoddoranaveragopedodotone
month.

1) Credit aflowsd to debtors is two months.

g) Credit allowed by suppliers is ons month.
You may assume that sales and production follow & consistant
pattern.
You are required 1o prepare a statement of working capital
requirements.

24, mmouuayocamasnm.po.ooomnmmhmM
of Rs. 40,000, Rs.30,000, Rs. 50,000 and Rs. 20,000 In four years,
Prasent value of Re.1 @10% - First year 0.809, Second year 0.826,
Third year 0.751 and in the Fourth year 0,683. Calculate
a) Net present vaius

b) Profitabifity index ,
¢} Net profitability index. (2x5=10)




